

Simplify Following

Operations with positive and negative Integers



$$-2 \times -2 = \underline{\quad} \quad 2 \times 2 = \underline{\quad} \quad -2 \times -2 \times -2 = \underline{\quad}$$

$$-5 \times -5 = \underline{\quad} \quad 5 \times 5 = \underline{\quad} \quad -5 \times -5 \times -5 = \underline{\quad}$$

$$-3 \times -3 = \underline{\quad} \quad 3 \times 3 = \underline{\quad} \quad -3 \times -3 \times -3 = \underline{\quad}$$

$$-7 \times -7 = \underline{\quad} \quad 7 \times 7 = \underline{\quad} \quad -7 \times -7 \times -7 = \underline{\quad}$$

$$-9 \times -9 = \underline{\quad} \quad 9 \times 9 = \underline{\quad} \quad -9 \times -9 \times -9 = \underline{\quad}$$

$$-4 \times -4 = \underline{\quad} \quad 4 \times 4 = \underline{\quad} \quad -4 \times -4 \times -4 = \underline{\quad}$$

$$(-2)^2 = \underline{\quad} \quad (2)^2 = \underline{\quad} \quad (-2)^3 = \underline{\quad}$$

$$(-5)^2 = \underline{\quad} \quad (5)^2 = \underline{\quad} \quad (-5)^3 = \underline{\quad}$$

$$(-3)^2 = \underline{\quad} \quad (3)^2 = \underline{\quad} \quad (-3)^3 = \underline{\quad}$$

$$(-7)^2 = \underline{\quad} \quad (7)^2 = \underline{\quad} \quad (-7)^3 = \underline{\quad}$$

$$(-9)^2 = \underline{\quad} \quad (9)^2 = \underline{\quad} \quad (-9)^3 = \underline{\quad}$$

$$(-4)^2 = \underline{\quad} \quad (4)^2 = \underline{\quad} \quad (-4)^3 = \underline{\quad}$$

$$-2 + -2 = \underline{\quad} \quad 2 + 2 = \underline{\quad} \quad -2 + -2 + -2 = \underline{\quad}$$

$$-5 + -5 = \underline{\quad} \quad 5 + 5 = \underline{\quad} \quad -5 + -5 + -5 = \underline{\quad}$$

$$-2 + -2 = \underline{\quad} \quad 2 + 2 = \underline{\quad} \quad -2 + -2 + -2 = \underline{\quad}$$